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Second semester of the year \\
202372024
Date: Tuesday 28/05/2024

" Groups: First grade faculty of
science

Final Exammatlon for General Mathematlcs 105 r Penod 9. 11 Tlme Two hours

The Egyptian Arabic Republic
Ministry of Higher Education
Assiut University

Faculty of Science
Mathematics Department

Fmal Exam for General Mathematlcs 105 r (lntegratlon and Analytiai Geomtry)

First: Integration (Answer the following questions) (25 Markes)

First Question: - (8 Markes)
- Al cl BRL (he i 88 )l 08
(i) [ sin®x cos®x dx (ii) [ tanh®*x sechx dx (iii) [ x sin x dx
(iv) {'2__;\6_:_3___ dx (v)fxslnxdx (vi) f x? + 4x — 5 dx
J; x3—25x

Second Question: - (8 Markes)

- Al sl sa 5l e [ sech® x dx, [x"sin xdx - Al SO 0 AT Al aa )
(i)fsech3xdx (ii) fx3sin xdx
Third Question: - (9 Markes)

Lo ) A x:yZ, y:xz W\%SJWMAMAMQ‘,;“)
J‘QM(JJAEJALSSJJASJHJMKMQ’JJAOA&-}:J&‘SJS”P.A)A.&JS?: x* +y? = 64 b_dlal) daluw a2 4f (2)
Al 1) Lasda ga il

Second: Analytical Geometry (Answer five questions only of the following) (25 Markes)

1. Prove that the line passing through (—2,0) and (3 ,4) is parallel to the line
through (—3,1) and (2,5).

2. Find the directed distance from the line 4x — 3y = 6 to the point (2, 3).

3. Find the equation of the circie passing through the points (1,-2)and (5,3) and
having its center on the linex -y +2 = 0.

4. Draw the graph of the following equation y* + 8x — 6y + 25 = 0.

5. Find the center ¢, semi axes a and b, vertices v, v, foci (f, f'), lengths of latera
recta, and eccentricity e of the ellipse 3x% + 4y* — 12x + 24y = 0.

6. Determine the equations of the asymptotes and the coordinates of the vertices

v, v', and foci (f, f') of the hyperbola x* — y* = 9

"With our best wishes” Dr. Soad Ali Hasan && Dr. Sayed Attia Ahmed
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Final Exam 2023/2024 g

Faculty of Science — Course: English Language (1) Q ’

Time: Two Hours Total Score: 50 Mark Tuesday, June 4', 2024 S,
W u otal >core arKs uesdaay, June o -

L Choose the Correct Answer: 50 x 1 [50 Marks]

. Which sentence is correctly punctuated?

. In my class there are 27 12 year old children.

. In my class there are twenty-seven 12 year-old children.
. In my class there are 27 twelve-year-old children.

. Which version uses periods correctly?

. Dr Harrison will speak at a hotel in Chicago, IL, on Thurs at 3:00 P.M.

. Dr. Harrison will speak at a hotel in Chicago, IL., on Thurs at 3:00 PM.
. Dr. Harrison will speak at a hotel in Chicago, IL, on Thurs. at 3:00 P.M.

3. Choose the parallel sentence:

A. He works quickly and in an efficient way.

B. He works quickly and his performance is efficient.

C. He works quickly and efficiently.

4. Choose the parallel sentence:

A. He is credited with co-inventing scuba gear, developing a bathyscaphe, and helping start the first human undersea
colonies.

B. He is credited with co-inventing scuba gear, developing a bathyscaphe, and helped start the first human undersea
colonies.

C. He is credited with co-inventing scuba gear, developing a bathyscaphe, and helped to start the first human undersea
colonies.

5. Ricardo is one of those people who like to do everything ...... A. himself B. herself C. themselves

6. The gold prices continue to ............ . A. raise B. rise C. raising

7. While waiting for the paint to dry, Angela went to Home Depot where she bought some accessories. This is an ......

a. Complex Sentence b. Compound Sentence c. Simple Sentence

8. Reality TV shows will have an adverse effect on traditional dramas and comedies. As Reality TV increases in

Owp

popularity, network executives will begin canceling more traditional programs and replacing them with the latest
in Reality TV. What's the best topic sentence for this paragraph?

. more and more people love to watch and participate in Reality TV.
. as Reality TV gets more popular, more traditional television shows may be threatened.
. network executives make hasty and unwise decisions.

. One New York publisher has estimated that 50,000 to 60,000 people in the United States want an anthology that

includes the complete works of William Shakespeare. And what accounts for this renewed interest in Shakespeare?
As scholars point out, the psychological insights he portrays in both male and female characters are amazing even

today. What's the best topic sentence for this paragraph?

A. Shakespeare's characters are more interesting than fictional characters today.
B.
C. academic scholars are putting together an anthology of Shakespeare's work.

people today are interested in Shakespeare's work because of the characters.

10. A 64-year-old man, a legally blind person, and an amputee, has successfully climbed the mountain. This is a/an ...

11.

sentence. A. compound-complex B. simple C. compound

The book contained many ............ to the old legend. A. illusions B. Illude C. allusions

12. Which sentence is correctly punctuated?

A.
B.
C.

Laila said, "meet me at 10:00 sharp."
Laila said, "meet me at 10.00 sharp."
Laila said: "meet me at 10.00 sharp."

13. Each of us ............ scheduled to take the tést. A. was B. were C.am

Page 1 of 3



14. Economics ............ my field of study. A.am B.is C. are

15. Which sentence is correctly punctuated?

A. You need to buy the following (butter, flour, cheese and yogurt).
B. You need to buy the following — butter flour cheese and yogurt.
C. You need to buy the following: butter, flour, cheese and yogurt.

16. Which sentence is correctly punctuated?

A. The winners — Ahmed, Hassan, and Mazen — are given awards.
B. The winners, Ahmed, Hassan, and Mazen are given awards.

C. The winners: Ahmed, Hassan, and Mazen are given awards.

17. Which sentence is correctly punctuated?

A . In her usual tone, Raina told us to “be quiet around her office.”
B. In her usual tone, Raina told us to be quiet around her office.

C. In her usual tone, Raina told us 'to be quiet around her office.'

18. Choose the parallel sentence:

A. Cousteau's films and beliefs influenced people of all ages.

B. Cousteau's films and what he believed influenced people of all ages.

C. Cousteau's blockbuster films and what he believed influenced people of all ages.

19. If a car suddenly begins to skid on ice, a driver’s instinctive reaction might be the wrong one. Choose the sentence
that best supports or develops this topic sentence.

A. Skids can be a terrifying experience.

B. Cars can be very unpredictable on ice.

C. Many people instinctively turn the wheel in the wrong direction, making the skid worse.

20. Although the professor did not send them the quizzes. This is a/an ............ .

A. Complex Sentence B. Simple Sentence C. Dependent Clause
21. After listening to the Kanye West CD, I have new respect for his music. This is a/an ............

A. Simple Sentence B. Complex Sentence C. Compound Sentence

22. In 1988, Joe King, an engineering professor from California, made a 23-foot exact replica of the Eiffel Tower from

110,000 toothpicks. This is a/an ............
A. Simple Sentence B. Complex Sentence C. Compound Sentence
23. Those who did not drown froze to death in the icy water. This is a/an ............ s
A. complex sentence B. simple sentence C. dependent clause

24. 1 wanted to play the drums, but my teacher wants me to play the trombone because there are too many drummers

already. This is a/an ......... A. complex sentence B. compound-complex sentence C. compound sentence
25. The director, as well as the faculty members, .... attend the conference. A. hasto B.haveto C. Are
26.. The .esusessssss was catastrophic. A. affect B. effect C. affected
27. He is one of the men who ............ the work. "~ A.doing B. does C. do.

28. There are no effective boundaries when it comes to pollutants. Studies have shown that toxic insecticides that have
been banned in many countries are riding the wind from countries where they remain legal. Compounds such as
DDT and toxaphene have been found in remote places like the Yukon and other Arctic regions. What's the best
topic sentence for this paragraph?

A. Toxic insecticides such as DDT have not been banned throughout the world.
B. Even a worldwide ban on toxic insecticides would not stop the spread of DDT pollution.
C. DDT and toxaphene are the two most toxic insecticides in the world.

29. Each boy and girl ............ participated. A. has B. have C. are

30. The new boss has very .............. patience. - A. little B. few C. more
Page 2 of 3



31. Doing your: nightly reading is necessary, yet listening well in class will also help you to succeed. This is a/an ...
sentence. A. independent B. compound-complex C. compound =

32. The workers ............ the paintings last night. A. hung B. hanged C. hunger

33. People are now living longer than ever before for many different reasons. Choose the sentence that best supports
or develops this topic sentence.

A. Some people in the Soviet Union's Caucasus Mountains live to be over 100 years of age.

B. No one seems to understand this phenomenon.

C. Advances in medical science have done wonders for longevity.

34. From the manager's speech, I can ............ that he is really biased. A. imply B. infer C. Infering
35. Although we can never be sure, some of us ...... him. A. trust B. trusts C. trusting

36. The magician created ......... of a disappearing coin. A. the illusion B. the allusion C.bothaandb
37. . First of all, we need money to repair old roads and build new

roads. We also need more to pay teachers’ salaries and to pay for services such as trash collection. Finally, more
tax money is needed to give financial help to the poor citizens of the city. It is clear that the city will have serious

problems if taxes are not raised soon. What's the best topic sentence for this paragraph?
A. We should raise city taxes. B. City taxes are too high. C. City taxes pay for new roads.

Read the following Passages then Choose the Correct Answer:

The tiniest bird in the world is the male bee hummingbird. Because_it is so small, it is often mistaken for a bee or some
other type of insect of that size. As a hummingbird, it is able to flap its wings extremely quickly, up to eighty times per
second. With this really fast wing speed, the bee hummingbird can hover like a helicopter, fly forward, fly backward, or
even fly upside down.

38. What is the topic of this passage?

A. The bee B. One type of hummingbird C. How fast hummingbirds fly
39. The word “it” in line 1 refers to . A . abee B. a helicopter C. a hummingbird
40. The word “tiniest” in line 1 is closest in meaning to . A.smallest B. fastest C. Dangerous

41. It can be inferred from the passage that the female bee hummingbird

A. does not exist B. is larger than the male C. eats insects
42. According to the passage, when people see a male bee hummingbird, they often incorrectly think that it is
A. a bird B. an insect C. abat
43. According to the passage, how fast can a bee hummingbird flap its wings?
A.. A hundred times each second B. Eighty times each second C. Eighty times in a second

44. The passage indicates that a bee hummingbird can do all of the following EXCEPT g
A. hover B. fly a helicopter C. fly backward

The largest diamond ever found is the Cullinan Diamond. This diamond weighed 3,106 carats in its uncut state when it was
discovered in South Africa on January 25, 1905. The Cullinan Diamond was cut into nine major stones and ninety-six
smaller ones. The largest of the cut stones, and still the largest cut diamond in the world, is the pear-shaped Cullinan I at 530
carats. This diamond, which is also known as the Greater Star of Africa, is more than 2 inches (5.4 cm.) long and 1.75 inches
(4.4 cm.) wide. It became part of the British crown jewels in 1907.

45. What is the best title for this passage?

A. Diamond Cutting B. The World's Biggest Diamond, Uncut and Cut ~ C. Measuring Diamonds in Carats
46. The word “discovered” in line 2 is closest in meaning to.................
A. Unnatural B. Pear C. Whole
47. The word “discovered” in line 2 is closest in meaning to........c.cccceeu.ee.
A. created B. found C. buried
48. It can be inferred from the passage that the Cullinan Diamond was cut into how many total stones?
A. 96 B. 105 C. 3,106
49. All of the following are true about the shape of the Greater Star of Africa EXCEPT that .
A. It is 5.4 centimeters long B. It is longer than it is wide C. It is 4.4 inches wide
50. According to the passage, what happened to Cullinan?
A. It remained in Africa B. It was cut into smaller stones C. It became the property of the British Royal family
Page 3 of 3
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Faculty of Education - Assiut University 2" Semester —Final 2024
Time: 2 hours Computer (MC 100)

Marks: 50 1%t level

Important ¢ No. of pages: 2 — Soive in Bubble Sheet.
remarks ¢ 2 marks for each point.

O1. Choose the correct answer
1. What would be the output of the following code (in editor wmdow)”

=[102] ; =[307] ; c=a*b

a) 17 b)3014 ; c)1403 d) error
2. What is the command that return matrix containing the slope and the Y-intercept for a linear fit?

(30 marks)

a) polyval b) polymatrix c) polyfit d) linearfit
3. A shape that can represent two different conditions in flowchartis a .
a) Rectangle b) Diamend . - ¢) Circle d) Parallelogram
e Consider the M-file and the code as follow, answer questions 4,5,6:
function out = Cuber (A, ind) A = ones(2,2):
if ind == outl = Cuber (A, 1)
out = A"3; out2 = Cuber (A, 2)
elseif ind ==
out = A."3;
end
4. What must be the name of the M-file?
a)A b) out ¢) squarer d) Cuber
5. What is the value of out1?
a)lt b)22 ¢) 33 d)44
11 22 33 4 4
6. What is the value of out2?
a)ll b)22 ¢) 10 (d) 4
11 22 01
7. We use command ——--==w-— for condition sentences.
a) for by if | c)while (d) elseif

8. To ask the user via if statement that, x not equal y we write
a) x.noteq.y b) x~=y ¢) X not=y (dx#y
9. We can view the folders from the .........
a) Command b) Current ¢) History d) Workspace
Window Directory
10. If you need to use a saved array, you can find itin the ............
a) Cemmand b) Current ¢) History d) Workspace
Window Directory
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11. The flowchart (X}isa.......... Flowchart.

a) sequential b) selecting c) Loop - e d) Repetition

12. In the flowchart (X) When the LED must turn on?

a) In the light b) After 20 minutes ¢) In the dark ‘1d)'Bef0fe 20 minutes NG

13. In the flowchart (X) When the LED must turn off?

Is it dark?

s e

a) In the light b) After 20 minutes ¢) In the dark d) Before 20 minutes

S———

14. The wrong shapes in the flowchart (X) are:
Turn on LED

a) rectangles b) diamonds ¢) ellipses d) none

15. The control of the Algorithm related to the flowchart (X) is: Count the time

a) If ... elseif ... b) If ... else ... <) If.,..if..._ d) If ... for ...

s time>20
minutes?

-
The flowchart (X): Turn off LED t
Q2. Choose T the correct sentence or F for the wrong one 20 marks : 2 marks for each point )

16. The vector x = —1: 0.2: 0 is the same as x = linspace(—1,0.2,0). :

17. The command solve is used to find the solution for the differential equation.

18. We use the command “syms” to identify the numeric characters.

19. Zeros(1,5)*Zeros(3,1) outputs 5x3 zero matrix.

20. We can show the sequence of steps in an algorithm in a structural diagram called a flow chart.

21. Find(x>2) is used to display the values greater than 2.

22. >>1:2:10 is used to print the even numbers between 1 and 10.

23. MATLAB M-files can contain multiple functions.

24. Curve fitting in MATLAB always guarantees a perfect fit to the data points without any error.

25. The 'polyfit' function in MATLAB is used for polynomial curve fitting,
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Answer the following questions

Mark as True or False

1] Morging step is part of the PCAM methodology

In merge-sort algorithm the task dependency graph is the same as the function call graph

Usually, L2 cache is faster than L1

4] We can use L1 cache to cache important CPU registers

Boost is a popular C++ library that is not directly related to parallelism

Fork/join pattern is a derivative of pipeline pattern

In prefix-sum the fastest sequential algorithm is different from fastest parallel one

(Vo]

]
]
]
] Function call graph represents how functions are defined in code
]
]
]
]

Sorting the array is a pre-processing step for prefix-sum

10] Map-reduce pattern is a derivative of master—worker pattern

11] Even high level computer languages like Python can make use of CPU instruction pipelining

13] Spurious wake-up can happen at any point in time and not related to temperature

14] Non-deterministic execution of instructions in parallel programs can slow-down programs

15] Non-deterministic execution can affect the cause erroneous results
16] Race conditions can happen even on single core processors

17] Dead-locks can happen even on single core processors

18] If we expect conditions to be met very fast, then busy waiting can be useful

[
(5
[6
[7
(8
[
[
[
[12] Spurious wake-up is a famous problem with Mutexes
[
[
[
[
[
[
[

19] In busy-waiting a process waits inside the CPU waiting queue until the OS signals it

[20] Simulating heat diffusion on an isotropic 2D surface is an embarrassingly parallel problem

[21] Heat diffusion on an isotropic 3D surface can be solved with geometric decomposition

[22] Multi-threading support in C++ is not standardized

[23] make_unique is a C++ keyword

[24] Ordered execution can be enforced with mutexes

[26] Multi-threading support in C++ is modeled after pThreads

]
]
]
[25] Successful implementations of mutexes must rely on hardware support
]
7]

[27] Semaphores were first defined by the computer scientist Bill Gates in 1965

[28] C++ threads is implemented as separate memory-optimized fiber-processes

[29] Multi-threading support in C++ first started in C++11

[30] RAIl is a memory management concept focusing on efficient striding in RAM

[31] CUDA is an open-standard for GPU programming

[32] Since CUDA is pure SIMD, synchronization is not needed

[33] Memory coalescing is a technique for optimizing memory access
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[34] A binary semaphore is same as a mutex

[35] Atomic summation of floats aren’t supported in C++

[36] There is a subtle difference between atomic variable and volatile variable

[37] Atomic stacks and queues can be implemented in current C++ standard

[38] Producer-consumer problem involves many producers and one consumer

[39] Fairness in readers-writers involves giving priority to mutexes

[40] In CUDA each grid consists of many bocks and each block consists of many threads

[41] Condition variables use a mutex to mitigate locking

[42] Reader-writers problem with can solved with atomic variables

[43] Convolution can be done for both 2D, 3D, 4D, and 5D data

[44] Tiling matrix multiplication can be done both in CPU and GPU

[45] Producer-consumer problem involves one producer and many consumers

46] OpenCL is an open standard that should - in principle - complete with CUDA

47] OpenCL currently has more than 80% of the GPU programming market share

49] Barbershop problem can be solved with monitors or semaphores

[

[

[48] Condition variables is a synchronization technique that uses a monitor internally
[

[

50] The hard and convoluted part about parallel programming is getting correct results




